
��� /RJLF�RSHUDWLRQV 
6WULFWO\�VSHDNLQJ��ORJLF�RSHUDWLRQV�DUH�QRW�µQXPHUDF\¶��EXW�WKLV�TXHVWLRQ�LV� 
LQFOXGHG�KHUH�IRU�FRQYHQLHQFH��,W�UHODWHV�WR�6HFWLRQ����RI�%ORFN���DQG�WR�$FWLYLW\� 
��� 

'RQ¶W�IHHO�\RX�QHHG�WR�WU\�DOO�WKH�SDUWV�RI�WKH�TXHVWLRQ��MXVW�GR�DV�PDQ\�DV�\RX� 
QHHG�WR�JDLQ�FRQILGHQFH��ERWK�DV�\RX�VWXG\�%ORFN���DQG�ZKHQ�\RX�FRPH�WR�UHYLVH� 
IRU�WKH�H[DP� 

4XHVWLRQ��� 

)RU�HDFK�RI��D�±�H��EHORZ��ILQG� 

�L� 127�$ 

�LL� 127�% 

�LLL� $�$1'�% 

�LY� $�25�% 

�Y� $�;25�% 

�D� $� ���������� %� ���������� 

�E� $� ���������� %� ���������� 

�F� $� ���������� %� ���������� 

�G� $� ���������� %� ���������� 

�H� $� ���������� %� ���������� 

�� 7����&20387(56�$1'�352&(66256 



Question 10 
 

(a) (i) NOT A is 1000 0101 
(ii) NOT B is 1001 1110 
(iii) A AND B is 0110 0000 
(iv) A OR B is 0111 1011 
(v) A XOR B is 0001 1011 

  
(b) (i) NOT A is 0000 1111 

(ii) NOT B is 1110 1001 
(iii) A AND B is 0001 0000 
(iv) A OR B is 1111 0110 
(v) A XOR B is 1110 0110 
 

(c) (i) NOT A is 1101 1000 
(ii) NOT B is 0110 0110 
(iii) A AND B is 0000 0001 
(iv) A OR B is 1011 1111 
(v) A XOR B is 1011 1110 

 
(d) (i) NOT A is 1110 0010 

(ii) NOT B is 0110 0011 
(iii) A AND B is 0001 1100 
(iv) A OR B is 1001 1101 
(v) A XOR B is 1000 0001 
 

(e) (i) NOT A is 0110 0000 
(ii) NOT B is 0110 0000 
(iii) A AND B is 1001 1111 
(iv) A OR B is 1001 1111 
(v) A XOR B is 0000 0000 


